2/6/2019 Fax



Sales Tax Exemption

Texas A&M University is exempt from state and municipal sales taxes under Chapter 20 Title 122A, revised Civil Statutes of Texas, for all purchases made for the exclusive use of Texas A&M.

The laws of the State of Texas shall govern this Purchase Order.

Purchase Order					
Purchase Order Date PO/Reference No. Revision No.					
Feb 6, 2019	AB0425883	original			

Contact instructions for questions regarding this Purchase Order:

If Buyer Contact information is listed below, please contact the Buyer.

If not, please contact the Customer.

Buyer Contact:

Buyer	Buyer Email	Buyer Phone Number
cjt - Toler, Cherise	ctoler@tamu.edu	979.845.5887
Customer Contact:		
Name:	Seth Dorsey	
Email:	SDORSEY@ATHLET	ics.tamu.edu
Phone:		

Order acceptance instructions:

Vendor guarantees that the products delivered or the services performed as a result of this Purchase Order will meet or exceed all specifications herein. Any exceptions to the pricing or the description contained herein must be approved by Texas A&M's Department of Procurement Services prior to shipping or performance. This Purchase Order is governed by the laws of the State of Texas and Texas A&M's Terms & Conditions, which are available online: http://purchasing.tamu.edu/suppliers/bids-catalogue-tc-form/

Sup	plier Information		Delivery Information				
Supplier Name	ROGERS ATHLETIC CO	Delivery Address					
Address	BOX 232054	TAMUS Member:	02-Texas A&M University (02)				
	2054 MOMENTUM PALCE	Attn					
	CHICAGO, IL 606895320 US	Texas A&M Athletics					
Phone	+1 800-248-0270	Kyle Field Stadium					
Fax	+1 989-386-9424	756 Houston St					
FOB / FREIGHT	Destination	1228 TAMU					
Pre-Pay & Add	No	College Station, TX 77843-1228					
Payment Terms	0, Net 30	United States					
Contract Number - Header	Buy Board - 502-16	Delivery Information					
Contract Number - Header	Buy Board - 502-16	Required Delivery Date					
Contract Number - Line	no value	Ship Via	Best Carrier-Best Way				
Quote number		Simp vid	best carrier best way				

Notes to Supplier Shipping Instructions Note to Supplier Reference BuyBoard contract 502-16. Attachments for supplier Quote.pdf Quote 2.pdf Quote 3.pdf **PO Clauses** Header 001 No Collect Freight Neither COD nor "Collect" freight or handling charges will be accepted. Charges Accepted 102 TAMU Terms & Terms & Conditions - Texas A&M University -This purchase order is issued on behalf of Texas A&M Conditions University and is governed by the Terms & Conditions found online:

2/6/2019 Fa

http://purchasing.tamu.edu/suppliers/bids-catalogue-tc-form/ From this website please select "Texas A&M University" from the drop-down menu.

Line No.	Product Description	Catalog No.	Size / Packaging	Unit Price	Quantity	Ext. Price
1 of 36	Custom Dual Rack XL - "Big Aggie Rack" - (See Custom Print)	NA	EA	4,300.00 USD	16 EA	68,800.00 USD
2 of 36	Custom "Badges" to be place on curved cross brace on both sides of 8 racks - (See CustomPrints)	NA	EA	270.00 USD	16 EA	4,320.00 USD
3 of 36	Pendulum Folding Synchro Bench W/ Flip-Up Attachment	NA	EA	1,390.00 USD	16 EA	22,240.00 USD
4 of 36	Pendulum Power Stack-Fixed Lat/Low Row with Seat (Rack Attach)	NA	EA	2,708.00 USD	16 EA	43,328.00 USD
5 of 36	Pendulum Power Stack-Adj HI-LO - (Rack Attach)	NA	EA	2,205.00 USD	16 EA	35,280.00 USD
6 of 36	Custom Super Bridge Link W/ Custom Texas A&M Logo's (See Custom Prints)	NA	EA	10,750.00 USD	2 EA	21,500.00 USD
7 of 36	Custom Bridge Link Straight "Plug & Change" W/ #421881 Standard Chin - (See CustomPrint)	NA	EA	500.00 USD	14 EA	7,000.00 USD
8 of 36	Custom Bridge Link Straight W/ Standard Pull-up Bar Centered (See Print)	NA	EA	400.00 USD	14 EA	5,600.00 USD
9 of 36	RA # 421915 Neutral Grip "Change & Plug" Handles W/ Ball End (Pairs)	NA	EA	200.00 USD	14 EA	2,800.00 USD
10 of 36	RA # 421884 Universal Lat Handle "Change & Plug" W/ Rope Grip Attachment (Pairs)	NA	EA	200.00 USD	14 EA	2,800.00 USD
11 of 36	Head Rest Slip Cover W/ Embossed Logo (16 for Rack Benches) (10 for DumbbellBenches)	NA	EA	100.00 USD	26 EA	2,600.00 USD
12 of 36	Pendulum Pit Shark Attachment W/ Standard Attachments	NA	EA	2,850.00 USD	4 EA	11,400.00 USD
13 of 36	Pendulum Single Leg Squat Pad	NA	EA	190.00 USD	16 EA	3,040.00 USD
14 of 36	Pendulum Battling Rope Rack Attachment	NA	EA	75.00 USD	6 EA	450.00 USI

15 of 36	Front Band Attachment (Pair)-Includes 2 Band Pins	NA	EA	299.00 USD	32 EA	9,568.00 USD
16 of 36	Mono Post Dip Bar (Knurled Handles)	NA	EA	329.00 USD	16 EA	5,264.00 USD
17 of 36	Pendulum Utility Bench For Dumbbells	NA	EA	850.00 USD	10 EA	8,500.00 USD
18 of 36	Dumbbell Racks 8' Wide 3 Tier	NA	EA	875.00 USD	4 EA	3,500.00 USD
19 of 36	Dumbbell Racks 8' Wide 2 Tier	NA	EA	650.00 USD	8 EA	5,200.00 USD
20 of 36	8' 2 Tier Combo Dumbbell/Kettlebell Rack - (Top Shelf - Standard for Dumbbells) (BottomShelf - #420417 Kettlebell Shelf)	NA	EA	650.00 USD	2 EA	1,300.00 USD
21 of 36	Eleiko # NXG -20kg Eleiko IWF Weightlifting Competition Bar	NA	EA	925.00 USD	16 EA	14,800.00 USD
22 of 36	7' Texas Power Bar (Med Knurl) Black Shaft /Hard Chrome Sleeve	NA	EA	285.00 USD	36 EA	10,260.00 USD
23 of 36	Shipping	NA	EA	18,000.00 USD	1 EA	18,000.00 USD
24 of 36	Intek 45 lb Black Olympic Urethane Training Bumper Plate W/ Custom Logos	NA	EA	228.00 USD	256 EA	58,368.00 USD
25 of 36	Intek 25 lb Custom Grey Olympic Urethane Training Bumper Plate W/ Custom Logos	NA	EA	145.00 USD	128 EA	18,560.00 USD
26 of 36	Intek 45 lb Urethane Encased Olympic Grip Plate W/ Custom Logos	NA	EA	0.00 USD	88 EA	0.00 USD
27 of 36	Intek 25 lb Urethane Encased Olympic Grip Plate W/ Custom Logos	NA	EA	70.00 USD	28 EA	1,960.00 USD
	Intek 10 lb Urethane Encased Olympic Grip Plate	NA				4,068.00

6/2019		Fax				
29 of 36	Intek 5 lb Urethane Encased Olympic Plate	NA	EA	14.15 USD	144 EA	2,037.60 USD
		ı				
30 of 36	Intek 100 lb Urethane Encased Olympic Grip Plate W/ Custom Logos	NA	EA	264.00 USD	12 EA	3,168.00 USD
31 of 36	Custom Logo Charge - 4 logo's per plate on total of 512 plates	NA	EA	14.00 USD	2,048 EA	28,672.0 USD
		1				
32 of 36	Shipping	NA	EA	4,397.00 USD	1 EA	4,397.00 USD
		ı				
33 of 36	Intek Delta Series Dumbbell Set - (Self-Leveling Face - The Logo and Weight Increment arealways Upright - Set Includes (15lb to 50lb in 2.5lb Increments x 4 sets), (55lb to 150lb in 5lbIncrements x 4 Sets), (155lb to 175lb in 5lb Increments x 2 sets)	NA	EA	113,044.00 USD	1 EA	113,044.0 USD
		I				
34 of 36	Custom Logo - Both Ends of Each Dumbbell	NA	EA	12.00 USD	600 EA	7,200.00 USD
		ı				
35 of 36	Dumbbell Notes - Stainless Steel heads and handles. Solid Construction, No welds. Made inthe USA (150 total Sets)	NA	EA	0.00 USD	1 EA	0.00 USI
		ı				
36 of 36	Shipping	NA	EA	4,545.00 USD	1 EA	4,545.00 USD
		ı				
				Total	553,5	69.60 US

Billing Information	Billing Address
To assure timely payment please e-mail invoices to the email provided in the bill to address. If the invoice is sent via email, please do not send a duplicate copy through the mail. Only if email is not an option then submit invoices to the billing address indicated in the "Billing Address" section. To inquire about electronic invoicing via cXML, CSV or PO flip through the supplier portal, e-mail abvendorhelp@tamu.edu. Invoice must include the PO/Reference number shown above.	Texas A&M University-Accounts Payable ***Do Not Mail Invoices*** Email invoices to invoices@tamu.edu 750 Agronomy Road - Suite 3101 6000 TAMU College Station, TX 77843-6000 United States